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Problem F1 – Spherical Pendulum

[10 Points] Consider a mass m that is suspended from
the ceiling by a string of length R, which is swinging under
the influence of gravity (see figure).

1. Write down the constraint equation(s).

2. Construct the unconstrained Lagrangian. Deter-
mine the Lagrange equations of the first kind and
use them to show that the tension in the string is

|~T | =
∣∣∣mR(θ̇2 + φ̇2 sin2 θ

)
−mg cos θ

∣∣∣ . (1)

3. Find at least two conserved quantities and either ar-
gue or demonstrate explicitly that they are conserved.

5.1 Systeme mit Zwangsbedingungen 169
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Abb. 5.2 Eine Torusoberfläche ist ein Beispiel für eine zweidi-
mensionale Untermannigfaltigkeit im dreidimensionalen Raum.
Die beiden Radien r und R definieren die Gestalt des Torus J

Verallgemeinerte Koordinaten

Anstelle der 3N abhängigen Parameter xi kann man F D
3N ! r unabhängige Parameter qj (1 " j " F) definieren,
die nicht durch die Zwangsbedingungen eingeschränkt
werden. Diese werden als neue, verallgemeinerte Koor-
dinaten verwendet. Man spricht auch von generalisierten
Koordinaten.

Sind die r Zwangsbedingungen holonom, kann man die 3N
abhängigen Parameter xi als Funktion der F unabhängigen Pa-
rameter qj darstellen:

xi D xi.t; q1; : : : ; qF/ .1 " i " 3N/: (5.9)

Im Fall von zeitabhängigen Zwangsbedingungen hängen die xi
nicht nur implizit über die qj, sondern auch noch zusätzlich di-
rekt von t ab, was durch das erste Argument ausgedrückt wird.

Bewegung auf einer Kugeloberfläche

Für die Bewegung auf einer Kugeloberfläche mit Radius
R lauten die drei kartesischen Koordinaten einer Punkt-
masse

x1 D R sin# cos';
x2 D R sin# sin ';

x3 D R cos#:
(5.10)

Da R konstant ist, gilt xi D xi.#; '/, und die beiden
unabhängigen Parameter können als q1 D # 2 Œ0; /
und q2 D ' 2 Œ0; 2 / repräsentiert werden. Offensicht-
lich werden q1 und q2 nicht durch die Zwangsbedingung
eingeschränkt. Sie eignen sich daher als generalisierte
Koordinaten für das Problem. J
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Abb. 5.3 Das sphärische Pendel kann man sich als eine Punktmasse
vorstellen, die zu einem Aufhängepunkt (Ursprung O) den konstanten
Abstand R besitzt. Das Pendel kann unter dem Einfluss der Schwerkraft
schwingen

Achtung In der Regel lassen sich die generalisierten Koor-
dinaten nicht zu Vektoren wie xi zusammenfassen. Man behan-
delt dann die 3N ! r generalisierten Koordinaten wie skalare
Größen. J
Wir führen die symbolische Abkürzung x für die Menge aller
Parameter xi sowie q für die Menge aller Parameter qj ein. Wir
schreiben daher in Kurzform x D x.q/. Die verallgemeinerten
Koordinaten werden in diesem Kapitel und darüber hinaus eine
wichtige Rolle spielen.

Das sphärische Pendel

Anhand des sphärischen Pendels lässt sich die Problematik der
Zwangsbedingungen und Zwangskräfte sowie eines Lösungs-
verfahrens anschaulich darstellen. Beim sphärischen Pendel
handelt es sich um eine Punktmasse m, die sich unter dem Ein-
fluss der Schwerkraft FG D mg D !mgOe3 auf der Oberfläche
einer Kugel mit Radius R bewegt (Abb. 5.3). Man kann sich bei-
spielsweise vorstellen, dass die Punktmasse an einer masselosen
Stange der Länge R befestigt ist oder sich in einer halbkugelför-
migen Schüssel befindet. Der Ursprung O liege im Mittelpunkt
der Kugel, daher lautet die holonome Zwangsbedingung

f .x.t// D x2.t/ ! R2 D 0: (5.11)

Hier wurde berücksichtigt, dass die Bahnkurve x.t/ eine Funk-
tion der Zeit ist. Da die Zeitabhängigkeit nur implizit über die
Bahnkurve x.t/ in (5.11) eingeht, handelt es sich um eine skle-
ronome Zwangsbedingung. Eine rheonome Zwangsbedingung
läge beispielsweise vor, wenn der Kugelradius bzw. die Stan-
genlänge selbst eine Funktion der Zeit wäre, also R D R.t/.
Dies wird in Aufgabe 5.4 aufgegriffen.
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Problem F2 – A Central Force

[10 Points] A particle of mass m is moving in the isotropic harmonic oscillator potential

V (r) =
1

2
kr2 , k > 0 . (2)

1. Sketch the potential V (r) and the effective potential Veff(r). Indicate the possible types of
trajectories based on their energies E and the turning points (if any exist) of the radial motion.

2. Determine the radius R of circular orbits.

3. Show that near-circular orbits are stable, and prove that the frequency Ω of small oscillations
around a circular orbit is twice the oscillator’s natural frequency ω:

Ω = 2ω = 2

√
k

m
. (3)
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Problem F3 – Normal Modes

[10 Points] Near equilibrium, a system with three degrees of freedom is described by the Lagrangian

L =
1

2
a
(
η̇2

1 + η̇2
2 + η̇2

3

)
− 1

2
b
(
2η2

1 − 4η1η2 + 3η2
2 − 4η2η3 + 4η2

3

)
, (4)

where ηi denote displacements out of equilibrium, and a, b are real-valued constants. Determine the
normal modes of the system. Do the individual modes correspond to linear or oscillatory motion?
Note: You do not need to normalize the characteristic vectors, or sketch the motion.
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Problem F4 – Physical Pendulum

[10 Points] A thin uniform hoop of mass M and radius
R is suspended from a nail, and able to swing back and
forth in a vertical plane under the influence of gravity (see
figure).

1. Compute the hoop’s moment of inertia for rotations
around the nail.

2. Construct the Lagrangian for the pendulum motion
about the nail, using the angle φ as the generalized
coordinate. Derive the Lagrange equation.

3. Determine the frequency of small oscillations around
equilibrium. How does it compare to the frequency
of a simple pendulum with mass M and length R,
ωsimple =

√
g/R?

~g

φ
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Problem F5 – Hénon-Heiles Hamiltonian

[10 Points] Consider a particle of mass m moving in the so-called Hénon-Heiles potential

V (x, y) =
1

2
a
(
x2 + y2

)
+ b

(
x2y − 1

3
y3

)
, a, b ∈ R . (5)

1. Construct the Lagrangian and derive the Lagrange equations.

2. Determine the canonical momenta and use them to construct the Hamiltonian for the system.

3. Derive Hamilton’s equations and show that they yield the same equations of motion as the
Lagrangian formalism.

4. Consider the special case b = 0, and compute the Poisson bracket
{
xpy − ypx, H

}
. Interpret

your result.

Hint: You can either compute the necessary derivatives directly, or use the relations for Poisson
brackets of fundamental variables and product quantities.
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